Honors Algebra 2 i Name KEX

Algebra Quiz #2 Review Date Per

MUltipIy the following polynomials. Write answersin simplest form.

1) (Bx-2)(x*-6x+5) - 2) (x2+5x+4)(x2—3x+2)

~2 -2 [+12¢ |-10 A2 ¢ ok

3x| 3x*[-184* | 15%
X% ~6x +5

3|35 [-15x712¢.
XM x| x| dx
X ? +5x +4

1) 3x = 20x " +21x~10 2) xt i’ -9x - 2x+8

Factor completely.

3) x?+5x—14 | 4) 4x° +24x2+20x
(% +7)(x-2) 4w (x?+ Lx+5)
4y (X +3)(x+2)

L

3)__ (x41)(x-2) | 4) ‘B((x+3)(x+2),

5) 9x*-6x—-8 6) 4x*-36 ,
(3x*1)(3x*l) A4(x*-9 )

A (x+3) Lx‘z)

5_(3x:2)(Bx-H) 6 4(Xx+3)(x-3)



Solve the quadratic .equation' by factoring.

7) 4x*-2=-T7x 8) 3x*+27x-108=0
+Ix *Ix 7 _ . 3(x7‘+‘-\><'36)=°
Ax*+Ix -2 =0  3(x 4 )(X-3)=0
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9) y?+7y—6y =42 10) n(n—4)n—3)=0
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'L_"\/‘__L,’)_ =Q
(y+7 ),(\l"") =0
Y+1=° 7;6:0 ’

\,-,-""( \ = b

9)\/:'7;(9 10)\(\=O,3’>-,‘-\L




11) A rectangular flower géfden is planted in a rectangular yard that is 16m by 12m. The

1
garden occupies — of the area of the yard and leaves a uniform strip of grass around the

~ edges. Find the dimensions of the garden (Hlnt Draw a picture)
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4 (X -10)( x4 ) = o L_’w_/ e . [,
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12) Originally the dimenS8ions of a rectangle were 20 cm by 23 cm. When both dimensions

_were decreased by the same amount, the area of the rectangle decreased by 120 square

centimeters. Find the dimensions of the new rectangle. (Hint: Draw a picture)

le4 X = amt each side was reduced 67
Longth o widdh = Areas
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- AR Heb - Y3x +x° = 34D
= 25— ~ 340 “34s
120 -H43x X5 =0
) T}\e, nw FLL v 'sj ' ‘ xt""'BX L7120 2O
/
|

Cx ~40)(x-3 Y=0

A
\

Ho doesn't work bje when
s glugged, in 4o e Exgressons

ne dimensions nesodwe,




13) If f(x)=—x*+12x-3,g(x) =3x -4, and h(x) =2x* +13x +6 find the following:

a. g(f(1) = b. Find xWhenf(x)=17 c. f(g(N) =
*xf= '(\)14—110) 3 17 =~ %X 412~ 3 . 3(\)"3(!)"-}
Tl -3 x%*ejax 426 = O - 3“)
‘:(o) =8 . _ ) o -
(Xt )X -2 ¢(|)- (—) +lz(l)-3

-1 -12-3

(8) = 3(3) '-l ";
¥ 3 [X = 2, I;x L‘fﬂ{jﬁg"'éj

(8)=20 |
() = e. h(-3)= 2(- 3)1”3(3)4@ IO =
( X 4 12x- 3)+£X +13x .\,6) /4 -334¢6 % .F(o)—- o(o) +12(0) -3
e fay= "3 |
x* +zsx +3 - \ |hé)="151 x his): 2(—3)+|3(-3)+6
| — | 1B -39+ 06
-2l 4+ 6
héa)=-'s
x q€15)=3065)4%
? -yg-4y:

‘ Bm (o)) =-"\i) atis)= -nq

14) Find the domain and ranige of the following graphs. You may use interval or inequality

notation.
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